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1. Consider the sequence below.
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(a) Find the limit of the sequence as n tends to infinity. (8 pts.)
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(b) Does the series Y a, converge or diverge? Give support for your answer.
(6 pts.)



2. Find the value of each series, or show the series diverges. (12 pts. each)
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3. Determine if each of the following series converge or diverge. Fully justify your answer with
(a) complete work including a concluding statement which is a regular English statement
which (b) specifies the test you used and (c) any required statements for the particular

test you are using. (12 pts. each)
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4. Determine if the given alternating series converges absolutely, converges conditionally, or
diverges. (12 pts.)
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5. Find the radius and interval of convergence of the power series. (14 pts.)
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Bonus : (5 pts?FoZa ch of the f(ﬁ{owmg, g% (fan g\aél‘fj‘le of a’s queece which satlsﬁes the"?

condition or say “impossible”. No work is required.
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(c) cn which converges to zero but ¥ ¢, diverges.
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(b) b, which converges to zero and 3 b, converges.

(d) d, a bounded sequence which diverges.



